
cg';"rL !

qm=;= of]hgf tyf sfo{qmd /sd s'n /sd cg';"rL 

gu/ :t/Lo ef}lts lgdf{0f ;'wf/ M

1 vfg]kfgL 11,000,000.00

1=1 sfe|] pkTosf PsLs[t vfg]kfgL cfof]hgf 10,000,000.00

1=2 vfg]kfgL >f]t Ifqsf] k'jf{wf/ lasf; sfo{qmd

1=3 s'zfb]jL uf=la=;=k'jf{wf/ lasf; sfo{qmd 400,000.00

1=4 e'ld8f+8f uf=la=;=k'jf{wf/ lasf; sfo{qmd 500,000.00

1=5 wg]Zj/ a}lsjf ;fd'bflos ag ;d|If0f 75,000.00

1=6 r08]Zj/L ;fd'bflos ag ;d|If0f 25,000.00

2 ;8s 7,500,000.00

2=2 >Lv08 dfu{ lkr ag]kf–!! 4,000,000.00

2=3 l;gfufn dfu{ lkr ag]kf –^ 1,500,000.00

2=4 led;]g dfu{ lkr ag]kf –!) 2,000,000.00

3 ;8s dd{t ;'wf/ 7,200,000.00

3=1 r08]Zj/L dfu{ lkr ag]kf –! 1,000,000.00

3=2 r08]Zj/L – /lacf]kL af6f] 9n tyf u|fe]n ag]kf –! 2,500,000.00

3=3 kf]ln6]SgLs – 9ufn dfu{ 9n gfnL dd{t ag]kf–@ 1,200,000.00

3=4 av'lx6L kl/jf/ lgof]hg dfu{ dd{t ag]kf –* 1,000,000.00

3=5 a'l4dfu{ u|fe]n ag]kf –!! 1,500,000.00

4 cGo ;8s lgdf{0f 400,000.00

4=1 wg]Zj/ dfu{ – pu|]Zj/ dlGb/ af6f] u|fe]n 150,000.00

4=2 c/lgsf] /fhdfu{–jfnjfl6sf :s'n 9n / af6f] ag]kf–% 250,000.00

5 Nof08 lkmN8 ;fO{6 ef}lts k'jf{wf/ 3,000,000.00 3,000,000.00

6 cGo sfo{qmd 4,735,000.00

6=1 t'N6L hUuf lasf; sfo{qmd 400,000.00

6=2 cfof]hgf Joa:yfkg tyf ;]jf vr{ 2,030,000.00

6=3 dd{t tyf ;Def/ 725,000.00

6=4 ;8s ;}fo{ aQL h8fg sfo{qmd 1,000,000.00

6=5 pu|]Zj/ dxfb]j dlGb/ kl/;/df 9'Ëf la5ofpg] 200,000.00

6=6 jfn k':tsfno :yfkgf 80,000.00

6=7 ckfË d}qL sfof{no Joa:yfkg 100,000.00

6=8 ;8s aQL dd{t ;'wf/ 200,000.00

7 gu/ ;kmfO{ Joa:yfkg 8,500,000.00

7=1 jftfj/0f ;'wf/ sfo{qmd 7,200,000.00

7=2 ;lDkË ;fO{6 ;'wf/ 1,000,000.00

7=3 9n gfnL ;kmfO{ tyf k|zf]wg s]Gb| ;+rfng 300,000.00

8 j8fut sfo{qmd 3,000,000.00 3,000,000.00 1=1

8=1 k|j4{gfTds sfo{qmd

cf=j= @)&#.)&$ 

gu/ ljsf; sfo{qmd



9 jftfj/0f sfo{qmd 475,000.00

9=1 jflif{s jftfj/0f ;+/If0f sfo{qmd 50,000.00

9=2 jftfj/0f Joa:yfkg laz]if sf]if 100,000.00

9=3 jftfj/0f d}qL :yfgLo zf;g k|a{4g 25,000.00

9=4 hnafo' kl/j{tg Go"lgs/0f jflif{s sfo{qmd 50,000.00

9=5 t'N6L afl6sf ;d|If0f 100,000.00

9=6 wfld{s If]q ;kmfO{ tyf ag ;+d|If0f 100,000.00

9=7 a[If/f]kg tyf xl/ofnL ;d|If0f 50,000.00

10 hg:jf:Yo sfo{qmd 600,000.00

10=1 zx/L :jf:Yo lSnlgs 200,000.00

10=2 hg:jf:Yo jflif{s sfo{qmd 100,000.00

10=3 dlxnf :jf:Yo :jod ;]lasf k|lta]bg vr{ 100,000.00

10=4 dlxnf :jf:Yo :jod ;]lasf sf]if 25,000.00

10=5 dlxnf :jf:Yo :jod ;]lasf casf; sf]if 25,000.00

10=6 j]jfl/; nf; ;but 50,000.00

10=7 /tmbfg sfo{qmd 50,000.00

10=8 :jf:Yo lzla/ 50,000.00

11 snf tyf ;+:s[lt lasf; sfo{qmd 1,300,000.00

11=1 ka{k'hf tyf rf+8ka{ sfo{qmd 1,200,000.00 1=2

11=2 snf tyf ;+:s[lt sfo{qmd 100,000.00

12 lzIff tyf v]ns'8 225,000.00

12=1 5fqa[lQ 50,000.00

12=2 zf}rfno tyf k'jf{wf/ lasf; sfo{qmd 75,000.00

12=3 afn ljsf; sfo{qmd 25,000.00

12=4 v]ns'8 75,000.00

13 lakb\ Joa:yfkg sfo{qmd 355,000.00

13=1 e'sDk k|lt/f]w ejg lgdf{0f sfo{qmd 75,000.00

13=2 lakb\ hf]lvd Golgs/0f jflif{s sfo{qmd 230,000.00

13=3 lakb\ Joa:yfkg laz]]if sf]if 50,000.00

14 nlIft ;d'x lasf; sfo{qmd 1,080,000.00 1,080,000.00 1=3

hDdf 49,370,000.00 49,370,000.00


